



اسم: _____

التاريخ: _____ النتيجة _____

$$3 + (-10) =$$

$$5^0 + (-9) =$$

$$7^{(-2)} - 8 =$$

$$5^{(-2)} + (-4) =$$

$$3^{(-2)} - (-5) =$$

$$(-7)^2 - (-2) =$$

$$2^{(-2)} + (-9) =$$

$$(-6)^{(-1)} - (-1) =$$

$$(-1)^{(-2)} + 2 =$$

$$(-4)^0 - 2 =$$

$$(-6)^2 + 5 =$$

$$(-9)^{(-2)} - 4 =$$

$$8^2 - (-7) =$$

$$7^{(-1)} - 5 =$$

$$1^{(-1)} - (-10) =$$

$$(-4) - 6 =$$

$$(-2)^{(-1)} - 4 =$$

$$8^2 + 10 =$$

$$3^2 - 7 =$$

$$(-9)^2 - (-2) =$$



اسم: _____

تاريخ: _____ النتيجة _____

$$3 + (-10) = (-7)$$

$$5^0 + (-9) = (-8)$$

$$7^{(-2)} - 8 = \left(-\frac{391}{49}\right) = \left(-7\frac{48}{49}\right)$$

$$5^{(-2)} + (-4) = \left(-\frac{99}{25}\right) = \left(-3\frac{24}{25}\right)$$

$$3^{(-2)} - (-5) = \frac{46}{9} = 5\frac{1}{9}$$

$$(-7)^2 - (-2) = 51$$

$$2^{(-2)} + (-9) = \left(-\frac{35}{4}\right) = \left(-8\frac{3}{4}\right)$$

$$(-6)^{(-1)} - (-1) = \frac{5}{6}$$

$$(-1)^{(-2)} + 2 = 3$$

$$(-4)^0 - 2 = (-1)$$

$$(-6)^2 + 5 = 41$$

$$(-9)^{(-2)} - 4 = \left(-\frac{323}{81}\right) = \left(-3\frac{80}{81}\right)$$

$$8^2 - (-7) = 71$$

$$7^{(-1)} - 5 = \left(-\frac{34}{7}\right) = \left(-4\frac{6}{7}\right)$$

$$1^{(-1)} - (-10) = 11$$

$$(-4) - 6 = (-10)$$

$$(-2)^{(-1)} - 4 = \left(-\frac{9}{2}\right) = \left(-4\frac{1}{2}\right)$$

$$8^2 + 10 = 74$$

$$3^2 - 7 = 2$$

$$(-9)^2 - (-2) = 83$$